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' (English Version)
14 At fes fem ot faastt fa'mrr Jet a5

: (A) U B) & C)H3 (D) &
2. Gty er foraieT I, T fev feime fagsr mee 3
' (A) uer . B)&w (C) dar (D) Bt&T
3. getewg few Y At w fea s wae 9t faforr e gy ger q, @"n'sfawwé‘
(A) maand fafemr (B) RaaWa fafamt
(C) gt fafenr » (D) fafour ferme
4, Uwdt g ST faatt Sar-wr3ar s
(A)ME (B) &H (C) #rat D) &
5.  Ummet f99 faahit samyg 7&: -
A) f3s (B) §7@ (C) Uw (D) &
6. ‘Wwm=Eratd: '
(A) U39 B)FHT () Qu-gmr (D) f&ut
7. . faoSt fsit Gmret g § foue &€t ga=t 3
(A) E=ETIET (B) Aoyt (C) gt (D) Jranut
8.  ‘araa vt famt JEtt 7
| (AR (B)"'& ©3 (D) e
9. (a9 ‘W3 F »ivat § fagr Afer & :
" (A)A=T (B) €low AET (€) forims (D) M3U H=d
10. FURIE-7A3 3 :
(A) ATElE - (B)&8¥ . () FE (D) Arfee
11. 3o fafiort @9 Adt AT REe ge: :
(A)ay-Ger  (B) dH-qHTEl (C) an-feaa (D) aH—fafamr
12. MUTHEAT IE............ MYE YIT da: :
(A) IS §&  (B)de BT (C)deuge (D)TE FTTUBE

13. ‘giggasl Ho'=d € wdE J:

(A) M™HI™ ¥3H T ATET
(C)HEe It

(B) ¥fg < ATl
(D) AA™S d&°

Directions (Q. 14-16) Mark the correct meaning of the given word out of four options.

14. ACRID
s “A) harsh

ACQUIESCE

A) to fight
16. COLLUSION

A) allusion

B) generous
B) to accept

B) illusion

C) stupid -

C) to question

C) consplracy

D) innocent
D) to reject

D) delusion

Directions (Q.17-19): Mark the correct synonym of the given word out of four options.

17.  ACCLIMATIZE

D) to adjust.
D) coerce

D) ridiculous

D) dark
D) clear

A) to surrender B) to resist C) to obey
18. CANDOUR :

A) frankness B) evasiveness C) cajole
19.  FASTIDIOUS .

A) fast B) scrupulous C) sloppy
Directions (Q. 20-22) : Mark the correct antonym of the given word out of the given
options.
20. FECUND :

A) bold B) foolish C) barren
21.  GARBLED

A) guilty B) sweet C) rough
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PUTRID. ' _
A) fresh _ B) stale C) calm . D) angry
Directions (Q.23-25) : Mark the correct meaning o

F ZCH-23570-A Z[E.E

f the given idioms out of the four

opfions.
23,  anything goes ' .
A) consequence of your/someone’s actions
B) there are no rules about acceptable behaviour
C) determination to fight
D) excessive praise
24.  to pull one out of the hat
A) to be cruel to someone
B) to ridicuie others =" :
C) to bring off an unexpected trick in an apparently desperate situation
D) to be selfish
25.  to line your pocket '
A) to flatter others B) to displease others
- C) to deceive others D) to make money usually by dishonest means
 26.. Under whose Gurudom the Sikhs became a political and military force?” :
A) Guru Gobind Singh Ji B) Guru Amardas Ji_
C) Guru Ramdas ji D) Guru Hargobind Ji
274 Match the following: ; )
. Sites Location
1. | Hari-Ke-Pattan a. | Sangrur
2. | Bansar Garden b. | Taran Taran
3. | Aam Khas Bagh c.- | Kapurthala
4. | Shalimar Bagh d. | Sirhind . :
‘A) 1b, 2a, 3d, 4c B) 1b, 2a, 3c, 4d C) 1a, 2b, 3d, 4¢c D) la, 2b, 3c, 4d
28.  Find the correct statement/s.- : : : ;
i) Punjabi is the 2™ official language in Delhi, Haryana, J and K
ii) Punjabi is one of the 22 languages with official status in India
iii) Punjabi is 2™ official language in Haryana, Himachal and Delhi
iv) Punjabi has 1¥ language status in Chandigarh _
: A) ii, iit and iv B) 1, ii and iv C) all the four - D)iandiv
29.  Which of the following is not a nose ornament ?
A) nath B) laung C) phuli D) phumni
30.  Chaj Doab is between - '
A) Beas and Satluj B) Beas and Ravi
; C) Chenab and Jhelum D) Ravi and Chenab
31.  Upto the height of 50 km from earth, the atmosphere is composed of
A) nitrogen, oxygen, argon, and minor gases
B) only nitrogen & oxygen
C) oxygen and minor gases
D) only minor gases such as hydrogen, helium, methane, neon etc.
32.  The Group-77 was established in: ' '
A) 1944 : - B) 1964 C) 1945 D) 1973 -
33.  The Presidents of India, who died as the President of the country were
i) Dr. Rajindra Prasad -ii) S. Radhakrishnan '
iii) Dr. Zakir Hussain iv) Fakhruddin Ali Ahmed
- A)iandii .. B)iiandiii C)iandiv D) iii and iv
34. ;World Watch Institute’, a prestigious international research institute establishment is
ocated at
A) Montreal (Canada) B) Geneva (Switzerland)
C) Washington DC (USA) D) Rome (Italy)
35.  The hottest place in the world is -
A) Tehran, Iran - B) Jaisalmer, India
C) Dallol, Ethiopia D) Azizia, Libya
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36.  Eugenic is the study of
A) altering human beings by changing their genetic components
B) people of European origin
C) different races of mankind
D) genetics of plants
37. Romantic movement -
A) was return of classical civilization of Greece and Rome
B) idealized the role of elite class
C) emphasized the reason over emotion
D) was tied to the nationalist movement
38.  The 7" Schedule of Constitution of India contains
"~ A) States and UTs .
B) Salaries of President and Vice-President
C) Union list, State list and Concurrent list
D) allocation of seats in Rajya Sabha.
39.  Match the following: ;
: 1. [ fiscal deficit . | a. | excess of total expenditure over total receipts
2. | budget deficit b. | excess of revenue expenditure over revenue receipts

3. | revenue deficit. | c. | excess of total expenditure over total receipts less

borrowings

4. [ primary deficit | d. | excess of total expenditure over total receipts less
" borrowings and interest payments :

A) la, 2b, 3c, 4d B) 1b, 2¢, 3d, 4a C) 1d, 2b, 3c, 4a D) lc, 2a, 3b, 4d
40.  In Oscar Award winning film ‘Slumdog Millionaire’, who played the role of anchor ?
~ A) Rishi Kapoor B) Anil Kapoor C) Amitabh Bachchan -~ D) Shahrukh Khan
41, Which one of the following cities will be hosting the 2020 Olympics?

: A) Tokyo B) Buenos Aires C) Istanbul D) Madrid
42. © ‘QRadio’, started operating from which city? ' ,
A) Mumbai - B) Bangalore C) Pune D) Delhi
43, ‘SIMBEX 14’ is the Naval exercise held in the Andaman Sea between
A) India and Sri Lanka B) India and Maldives
C) India and Singapore D) India and Myanmar

‘44,  The ultra-racial outfit of Iraq ISIS means
A) Islamic State of Iraq and Syria  B) International Shia Islamic Sect
C) International Sect Islamic States D) Islamic Shia International Sect
45.  The 7" Central Pay Commission is headed by :
- A) Ashok Kumar Mathur : B) G.K. Chadha
: C) Montek Singh Ahluwalia D) Ajit Prakash Shah .
46.  The maximum poll expenditure for a Lok Sabha seat has been raised by the Union
Cabinet on the suggcstion of the Election Commission of India :
A) T 30lacsto T 70 lacs B) ¥ 40 lacsto ¥ 70 lacs
‘ C) T 50 lacsto T 70 lacs D) T 40 lacs to ¥ one crore
47.  Which of the following languages has recently been approved as the Sixth Classical
Language of India by the Union Cabinet ? :

A) Malayalam B) Kannada. C) Odia D) Telugu

48.  Who among the following was crowned ‘Miss Earth 2013°?
A) Bea Rose Santiago B) Maria Gabriela Isler
C) Megan Young D) Alyz Henrich

49,  ‘Misery Index’ represents
A) sum of the rate of inflation and rate of unemployment
B) product of the rate of inflation and rate of unemployment
C) proportion of very poor to the poor living below the poverty line
D) none of above
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50.

51.
52,
53.
54,
55.

56.
57.

58,

(?rcme Court has initiated debate on ‘Euthanasia’. Which one of the following
Os, is fighting on the issue in Supreme Court?

A) International Society for Human Welfare and Rehabilitation

B) Association for Social Health in India

C; Association of National Brotherhood for Social Welfare

D) Common Cause

Find the term which does not fit into the serics

ICV, 5FU, 9IT, 15LS, 170R :

A) 5FU B) I5LS C)9IT D) 170R
Choose the correct alternative to complete the series below ANk

a_bc_a beda _ced bed

A) abddbd B) acbdbb C) adbbad D) adbcad

Select pair of words, which has the same relationship as the given pair of words have.
Given pair - Surgeon Scalpel

A) Musician : Song B) Baker : Oven

C) Carpenter : Cabinet D) Sculptor : Chisel

England is related to Atlantic Ocean in the same way as Greenland is related to

- A) Pacific Ocean B) Atlantic Ocean  C) Arctic Ocean D) Antarctic Ocean

Find the different one out of 5 below

REuphrates ii) Hawang Ho iii) Amazon _iv) Brahmaputra v) Indus
) () B) (iii) '(©) (iv) S D)

Find the odd one

i) 5788 ii) 5878 iii) 6482 iv) 9748 v) 8884

A) (v) B) (iii) ©) @) D) (iv)

Find the odd one _ :

i) ACDF  ii)FGKL  iii)HIVW = iv)TUOP  v) ABMN

A) () B) (iii) C) (iv) D) (v)

Ina certam code, CALANDER is written as CLANAEDR. How is CIRCULAR
written in that code“f‘
A) ICCRLURA B) CRIUCLRA . C) ICRCLUAR D) CRIUCALR

- Directions (Q. 59-60) : The code for capital letters in Column I are given in small letters
in Column II. Choose the correct code out of the alternative codes for the words given in

these questions.

59,
60.
61.

62.

63.
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Column I | Column II

1. | CURSE a. |lopkif

2. [INCUR - |b.[fbpoc

3. | TALLY c. lughvg

4. | CADET d.[rkufh

5. | DRIP e.|rotc

6. | TOIL f.ljugec

7. | VARY g.lvwoh
-SUSTAIN :
A)hibucpi B)hkcrjbk C)hwojfvw D)hgpukge
ENVOY .
A)kbjwu "B)jvbkw C)hjbvw D)vbpuk

In a certain code, ‘234’ means ‘spark and fire’, ‘456’ means spark is cause and ‘258’
means “fire is effect’ , which of the following numerals is used for ‘cause’ ?

A)3 B) 4 : C)s ‘D)6

Pointing to a woman, Naman said, “She is the daughter of the only child of my
grandmother.” How is the woman related to Naman?

A) sister B) niece C) cousin D) none of above
On the basis of following information, answer the question below ;
‘P x Q’ means ‘P is the father of Q’

‘P - Q’ means ‘P is the sister of Q’

‘P + Q’ means ‘P is the mother of Q’

‘P + Q’ means ‘P is the brother of Q’

In the expression B + D x M +N, how is M related to B?

A) grandfather ~  B)son C) grandson . D) grand-daughter



Directi

64.
65.

66.

Directi

67.
68.
69.

70.

11,

72,

ons (Q. 64-65) :

(i)A,B,C,D,E and F are 6 members of a family

ii) one couple has parents and their children in the family
iii) A is the son of C and E is daughter of A

iv) D is the daughter of F who is mother of E

Which of the following pairs is the parents of the couple ?

A) AB B) BC C) AF D) CF

What relationship do D and E bear to each other :

A) sister and brother B) mother and son
C) grand-mother and grand-daughter D) sisters

In a group of six women, there are four dancers, four vocal musicians, one actress and
three violinists. Girija and Vanaja are among the violinists while Jalaja and Shailja do
not know how to play on the violin. Shailja and Tanuja are among the dancers. J alaja,
Vanaja, Shailja and Tanuja are all vocal musicians and two of them are also violinists.
If Pooja is an actress, who among the following is both a dancer and violinist?

A) Jalaja B) Shailja C) Tanuja D) Pooja

ons (Q. 67-68) : ;

Six people A, B, C, D, E and F are sitting on the ground ina hexagonal shape. All the
sides of the hexagon so formed are of same length. A is not adjacent to B or C,Dis
not adjacent to C or E, B and C are adjacent, F is in the middle of D and C.

Who'is at the same distance from D as E is from D? :

A)B B)GF . C)D D)F
Which of the following is in the right sequence? '
A)AE, B B)F,A,B - S0)BHC P D)D, A, B

Six people — Rohit, Suneet, Deepak, Vikas, Kanak and Manick — were all born on the
same day of the year, but each was born in a different year, during a single six year
period. : i

1) Rohit is older than Deepak

2) Suneet is older than both Vikas and Kanak

3) Manick is 2 years older than Vikas

4) Rohit was born either in 1962 or in 1963

5) The oldest member of the group was born in 1960.

If Manick is the oldest of the group, then which of following must be true?

A) Deepak was born in 1964 " B) Rohit was born in 1962

C) Vikas was born in 1961 D) Suneet was born in 1961 '
Five men A,B,C,D and E read a newspaper. The one who reads first gives it to C. The
one who reads last had taken from A. E was not the first or last to read. There were
two readers between B and A.

Who read the newspaper last?

A)A B) B C) ¢ _

Kiran walks straight in the north direction for 2 km. He turns to east and walks I km
before turning towards west to walk 4 km. He turns right to walk a km and once again
turns right to walk 2 kms. How far and in which direction has he reached from his
starting point if he turns right again and walks 3 km more? ; _
A) West2km B) East 2 km C) 3 km West D) 1 km South

- Amit walked 30 meters. towards east, took right turn and walked 40 meters, then he

took a left turn and walked 30 meters. In which direction is he now from the starting
point?
A) North-East B) East C) South-East D) South
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Directions (Q. 73-74) : On the basis of diagram below of a square plot with 4 persons
stationed at 4 corners ;

73

e

75.

76.

77.

78.

C A

B

D _
From the original positions B and D move one and a half length of sides clockwise

and anti-clockwise respectively. Which one of the following statements is true?

A) B and D are both at-midpoint between ‘A and C ~

B) D is at the midpoint between A & C, and B at the corner originally occupied by C
C) B is at the midpoint between A and C, and D at corner originally occupied by C

D) B and D are both at the midpoint between A and D :

From the positions in original figure, C and A move diagonally to opposite corners
and then one side each clockwise and anti-clockwise respectively. B and D move two
sides each clockwise and anti-clockwise respectively. Where is A now?

A) at the north-west corner : B) at north-east corner

C) at south-east corner * D) at south-west corner

A watch reads 4.30. If the minute hand points East, in what direction will the hour
hand point? ) _

A) North B) North-West C) South-East D) North-East

There are 60 players in a college of whom 9 play football, hockey and cricket. Ten

different players play only one game-either cricket, hockey or football. There are two

more players in the hockey-cricket group than in cricket-football group and four more
in football-hockey group than in cricket-football group. Seven play cricket and
hockey. How many play football? :

- A)34 B) 10 C)33 D)32

A book contains all white pages except 30, all red pages except 50 and all green pages
except 40. All together how many pages are there in the book?

A) 60 B) 80 C) 120 D) 100

A frog jumps 5 meters forward and then jumps one meter backward in every half an
hour. How much time does it take to reach a distance of 21 meters? .

A) 3 hrs. B) 2 hrs. C) 2 hrs. 30 minutes D) 3 hrs. 30 minutes

Directions (Q. 79-80) : A result of a survey of 1000 persons with respect to their
knowledge of Hindi (H), English (E) and Sanskrit(S) is given below

19,
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What is the ratio of those who know all the 3 languages to those who do not know

Sanskrit ? '
1 1 10 5
A3 B) 1o 05 Pz



80.

" 8i.

82.

83.

84.

‘What is the ratio of those who know English to those who know Hindi ?

10 4 25 5
A) B) & S D)a
Find out the number of triangles in the figure.

A) 46. ' 'B)32 C) 64 : D) 52
If each of the 12 digits on a watch is replaced by English vowels a, e, i, 0, u in

~ sequence (1 by a, 2 by e, and so on and so forth), the hour hand will be between which

pair of vowels at 9.30 a.m.?

A) ae B)ei C)io : D)ou - ,

If every alternative letter of English alphabet from B onward (including B) is written
in lower case and the remaining letters are capitalized, then how will the 3" month of
the second half of the year be written? :

A) SEpteMbeR . B) MArCh : C) SEptEMbEr D) March
If the letters of the word ARTICULATES can be used as many times as one wants o

" use, then which one of following words cannot be formed ? :

A) LATER ~ B)ELECTRIC - C) ARTICLE D) COURTS

Directions (Q. 85-86) : Answer on the basis of following digits — letters - symbol
sequence y '

85.

86.

87.

88.

89.

R*TJL2$DéM#8C%B<K]—AW+PE+Q@7F6 :
If the above sequence is written in reverse order then which of the following will be
6™ to the right of 16™ element from the right end ?

A)M ' B)A . C)B D) +
Which term from the following should replace ? mark below
*RI:F6@ LI$:Q@E D$M:?

A)#MC B)PEW C)P++ D)PE +.

In a row of 40 boys, Satish was shifted 10 places to the right of Rohan and Kewal was
shifted 10 places to the left of Vilas. If Vilas was 26"™ from left and then there were '
three boys between Kewal and Satish after shifting, what was the position of Rohan in
the row? ' -

A) 10" from the right end B) 10" from the left end

C) 39" from the right end D) data inadequate

How many such digits are there in the number 831729564 each of which is as far
away from the beginning of the number as when the digits are arranged in descending
order? '

A) none - B)1 )2 D)3

If you pick up the 6™ and 14" letters from English alphabets from end and then pick -
up the 5% and 20™ letters from the beginning and form a meaningful word, what is the
first letter of that word? ' ' : '

A)E B)T M D) no word can be formed

F ZCH:23570-A OR B o Contd.




90.  Replace the ? with the term from given alternatives

A)l B) 731 C) 1625 D) 2031
91.  Choose from the following alternatives, the term to replace ?
3C | 27D | 9E
71 | 21K | 3M
4D | ? 7]
A)11E B)28 G G)a5] D)48 F
92.  Find the value of X in the following figure.
e -__[4]
33 2
27 2
36 8
= A B
1819
2Z'|PI
12]3
A)3 B) 4 C)8 D) 12

93.  Replace ? with one of the four alternatives given below

DE(@ION@N@@D@)ID)IO)IE:
I I I v Vv

I(@NI(@R)X(@AN)@I([(
b c d

a

A)a B)b C)c " D)d
94.  Find the odd one _ ,

e @ o @ ®
o ' 0 @ ; | e
o ) ® © © e
@ (i) Gii) Gv) (v)‘
A) (i) B) (ii) C) (iii) D) (v)

95.  What is the number of maximum straight lines that is needed to construct the Fig.

AL B2 C) 13 D) 14
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96.

Ly 4

A clock seen through a mirror shows a quarter to three. What is the correct time.
A) 8:15 B) 9:12 C) 8:17 D) 9:15
Find the combination from the 4 alternatives that most closely resembles water image

of given combination ' '
Given combination: b87CDM :

A) PS\CDOW  B) b870D9M
C) PSLCaeW D) b87CD6W

Directions (Q. 98-99): Answer on the basis of following information :

98.
99,

100.

101.

102,

103,

104.

A painter is given a task to paint a cubical box with six different colors for different
faces of the cube as
i) Red face should be between yellow and brown faces
ii) Green face should be adjacent to the silver face
iii) Pink face should be adjacent to the green face
iv) Yellow face should be opposite to the brown one
v) Brown face should face down :
vi) Silver and Pink faces should be opposite to each other
The face opposite to Red is

A) yellow B) green C) pink D) silver
The faces adjacent to Green are '

A) yellow, pink, red, silver B) brown, pink, red, silver

C) red, silver, yellow, brown D) pink, silver, yellow, brown

Two positions of a dice are shown below. Identify the number at the bottom when the
top is ‘3: i ' : 2

® ®

" A)2 B)4 C)5 D)6 - ' _

A student was asked to multiply a number by g but by mistake he multiplied th

number by ; . If his answer was 144 less than the correct one, the number was

A)210 B) 310 C) 284 - D)264

Find the correct inference according to given premises and symbols:
A: not greater than  B: greater than C: not equal to
D:equalto  E:not less than F: less than

Premises : (ICm) and (IAm)

A) IBm ~ B)IDm C) IEm D) IFm

A water tank is connected with three pipes. The first pipe can fill the tank in 20
minutes and the second pipe in 30 minutes. But the third one can empty the full tank
in one hour. If all the three pipes are opened simultaneously, in how many minutes
will the tank be full? - S ;

A) 30 minutes B) 20 minutes C) 15 minutes D) never

A, B, C, D and E play a game of cards. A says to B, “If you give me 3 cards, you will
have as many cards as [ have at this moment while if D takes 5 cards from you, he
will have as many as E has”. A and C together have twice as many cards as E has. B
and D together also have the same number of cards as A and C taken together. If they
together have 150 cards, how many cards C has got? '

A) 28 B) 29 CIGY3E - o D)3S
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105.

106.

107.

108.

109.

110.
111.

112.

113,
114.
115.
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Ravi’s brother is 3 years older to him. His father was 28 years of age when his sister .
was born while his mother was 26 years of age when he was born. If his sister was 4

years when his brother was born, what were the ages of Ravi’s father and mother-
when his brother was born ?

A) 32 years, 23 years . B) 32 years, 29 years

C) 35 years, 29 years D) 35 years, 33 years

I bought 6 erasers and 2 pens for ¥ 15. If I could have bought 4 more erasers for

¥ 14 than pens for T 9, the price of a pen was ? :

A) Y 1.50 : B) T1.75 C) X225 D)can’t be determined :

A bowl of sweets was placed on atable to be distributed among 3 brothers - Rajan,

Sajal and Karan. Rajan arrived first and ate what he thought was his share of sweets

and left. Then, Sajal arrived and thought that he was first to arrive and ate the number

of sweets, he thought was his share and left. Lastly, Karan arrived and thought he was

first to arrive and took what he thought was his share. If, 16 sweets are left in the

bowl finally, how many sweets did the bowl have first?

A) 27 B) 36 i C)48 D) 54

If a Imm thick paper is folded so that the area is halved at every fold, then what

would be thickness of the pile after 50 folds?

.A) 100 km . B) 1000 km - C) 1 million km D) 1 billion km
~ Four coins each of diameter Icm are placed on a table as shown in the Fig. Find the
-unoccupied space between them (Take n=3.1416)

A) 215 sq.cm B) .375 sq cm C) 145 sq.cm.D) .275 sq.cm

The positive value of m for 6x” —mx + 5 = 0 have roots in the ratio 1:2 is
A)15V3  B)3Vi5 C)Vi5  D)none

The sides of right angle triangle are 4x and 5x-4. If the area of triangle is 210 m?, Find
the sides of triangle.

‘A) 8,15,17 B) 20,21,29 C) 3,4,5 D) none

A, B and C go walking round a circle I. km in circumference at the speed of

10 m/min, 20 m/min, 40 m/min respectively. If they all start together and walk in the

same direction, when will they be together at the same place?

- A) after 50 min B) after [00 min ~  C) after 240 min D) after 800 min

A certain number of horses and equal number of men are zoing somewhere. Half of
the owners are on their horses’ backs while remaining ones are walking along Ieadmg
their horses. If number of legs. walking on the ground is 70, how many horses are
there.

A) 10 B2 C) 14 D) 16

My grandfather was 8 times older to me 16 years ago. He would be 3 times of my age
8 years from now. Eight years ago what was the ratio of my age to that of my
grandfather ?

A) 1:2 - B) 1:5 C)3:8 D) 11:53
y 2 2 B
Ifa= \/_H and b =J§_.lthen a2+ab+b2=?
N v5 +1 ‘a’ —ab+b* -
3 4 ; 3 s
ok B3 il SR ]

———— e —
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116. From the salary of a worker 10% is deducted as house rent; 15% of the rest he spends
on children’s education and 10% of balance, he spends on clothes. After this
expenditure, he is left with ¥ 1377. His salary is

A) ¥ 2000 B) 2040 ’ C) ¥2100 D) ¥2200 f
117.  A’discount series of p% and q% on an invoice is the same as a single discount of
' ~ P4 ) —q+ 24
A) (pra-Fh)% B) (p-a+{pp)%
) [lOO—[p +q +l£o%]}% D) Noneof these

118. The length of a ladder is exactly equal to the height of the wall it is leaning against. If
the lower end of the ladder is kept on a stool of height 3 m and the stool is kept 9 m
away from the wall, the upper end of the ladder coincides with top of the wall. Then
height of the wall is - :

A)15m ' B)I12m C)18m D)Ilm
119.- In an equilateral triangle ABC, D is mid-point of BC and E is mid-point of DC then
i 2
is equal to '

E2
A)7 : B)9 )] D) Can’t determine
-120. A sum of money lent on compound interest amounts in 2 years to ¥ 8820 and in 3
years to ¥ 9261. Find the sum and rate of interest. :
A) 8200 and 5% B) 8000 and 5% C) 8000 and 6% D) 8200 and 6%
121. What annual payment will discharge a debt of ¥ 580/- due in 5 years at 8% per
annum interest ? _ ;
Aﬂ T 166.40 -~ B) ¥ 65.60 C) ¥ 100 D) ¥ 120
~ The speed of a boat in still water is 15 km/hr. It can go 30 km upstream and return
downstream to the original Eoint in 4 hrs. 30 min. The speed of the stream is
- A) 5 km/hr. B) 8 km/hr. C) 10 km/hr. D) 15 km/hr.
123.  An express train travelled at an average speed of 100 km/hr., stopping for 3 min after
75 km. A local train travelled at a speed of 50 km/hr, stopping for 1 min. after every
25 km. If the trains started at the same time, how many km did the local train travel in

the time it took the express train to travel 600 km?
- A)300km B) 290.5 km C) 325.5 km D) 307.5 km
124. A, B and C completed a piece of work costing T 1800. A worked for 6 days, B for 4
days and C for 9 days. If their daily wages are in the ratio 5:6:4, how much amount
will be received by A? o ,
A) T 800 B) T 600 - C) T 900 D) T 750
125. Incomes of A, B and C are in the ratio 7:9:12 and their expenditures are in ratio of

8:9:15. If A’s saving is % of his income, then the ratio of saving A, B and C is

122,

A) 56:99:69 B) 99:56:69 C) 69:56:99 D) 99:69:56
126. The heart and the nerve centre of a computer is its:
A) output unit B) input unit C)CPU - D) memory

127. Which of the following TCP/IP protocol is used for transferring electronic mail

messages from one machine to another? :
Ag ETP: B) SNMP C) SMTP D) RPC
T

e transistorized computer circuits designed between the mid-1950s and mid-
1960s were introduced in the: ; :
A) First generation B) Second generation
C) Third generation : D) Fourth generation
129. are used for manufacturing CPU chips used in a computer and the
CPU chip is made out of __ : =
A) Buses; Carbon B) Control Units; Copper
C) Semiconductors; Silica _ D) Optical Fiber Cables; Silver
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130.

131.

132.

133.

134,

135.

136.

137.
138.

139.

140.

141.
142,

143,

The purpose of the primary key in a database is to
A) unlock the database : B) uniquely identify a record
C) establish constraints on database operations D) provide a map of the data

"!l‘lhts type of software is designed for users who want to customize the programs
they use.

A) Shareware B) Freeware

C) Open-source software D) Macros in Assembly Software
Which type of processing speed measurement is used primarily with -
supercomputers? = :
A) FLOPS B) Gigahertz C) Fractions of second D) MIPS

What is a specialized software program that allows input and output devices to
communicate with the rest of the computer system?

A) Utility driver B) Utility program
C) Data compression utility - D) Device driver

Communication between a computer and a keyboard involves
transmission.

A) Simplex  B) Half-duplex C) Full-duplex D) Automatic
From what has the term ‘Wi-Max’ been derived?

A) Worldwide Interoperability for Microwave Access

B) Worldwide Interconnection for Microwave Access

C) Worldwide Interchangeability for Microwave Access

D) Worldwide Interconnection for Multiple Access

The first instruction of bootstrap loader program of an operating system is stored

in: :

A) RAM B) Hard Disk C) Cache Memory D) BIOS
In ‘https’, the letter ‘s’ stands for:

A) Standard- B) Secure C) Simple D) Smart

A storage technique that a DVD-ROM uses to achieve a higher storage capacity '

than a CD-ROM is

I. Making the disc denser by packing the pits closer togcther

II. Using two layers of pits

[II. Using both sides of the disc : '

A) I only B)I &Il C)lIl & 111 "DYLIT&IIT

The - chip, which uses battery power, stores configuration information about
the computer.
A) BIOS B) POST C) CMOS D) RAM

The kind of interface with icons and menu bars for user to point at with mouse -

instead of entering commands for operating system to perform certain tasks is
called

A) GUI B) Command line interface

C) User friendly Programmmg D) Extra-Sensory Perception (ESP)

A is a small program that helps to automate a frequently used .

series of commands in most productivity software tools.
A) Macro. B) Utility C) Template D) Wizard

Which function will you use to enter current date and time in EXCEL worksheet -

cell?

A) =today() - B)=now() C)=time() - D) =Current'l‘|me()
In MS-EXCEL, you can auto fit the width of column by :

A) Double clicking on the column name on column header

. B) Double clicking on the cell pointer in worksheet

C) Double clicking on column right border on column header
D) Double clicking on the column left border of column header.
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For the next TWO questions, consider the following worksheet :

1. A B ol aCopks Ut Dl
1 ; No. Testl | Tast2 Total

2.1 1 80 60 140
3 | 2 70 s0| © . 120
A-|-~23 40 30 70
5|38 30 32 62
6-[i LB 85 85 170
v 6 . 65 80 145
W 72 96 168
g | 8 25 32 . 57
10 | 9 90| . 78 168
191 ﬁ 10 25 40 65

144. The formula = IF (B10 + C10 > 100, IF (D10 > 100, "A", "B"), "C") ‘in cell

D12 will result in
. A)A B)B C) € D) AC :
145. The formula = SUMIF(B2:B11, "<50", D2:DI1) in cell D13 will result in
A) 120 B) 254 C) 90 D) 244
146. In MS-PowerPoint, the difference between Slide Design and Auto Content -
Wizard is : .

A) Both are same :

B) Auto content Wizard is just the wizard version of Slide Design

C) Slide Design does not provide sample content but Auto Content Wizard
provides sample content too ‘ :

D) Slide Design asks your choice in steps but Auto Content Wizard does not let
you make choices ' .

147.  Which of the following views is the best view to use when setting transition
effects for all slides in a presentation? .

A) Slide sorter view : B) Notes pages view
C) " Slide view D) Outline.view :

148. In MS-WORD, how can you apply exactly the same formatting you did to another
text? :

A) Copy the text and click on Paste Special tool on new place
B) Select the text then click on Format Painter and select the new text
C) Copy the text and paste in new location. Then type the new text again

: D) All of above :
149. In MS-WORD, which of the following is used to create newspaper style columns?
A) Format Columns B) Insert Table
C) Format Tabs D) Insert Text Columns

150. In MS-WORD, what is gutter margin?
' A) Margin that is added to the left margin when printing
B) Margin that is added to right margin when printing

C) Margin that is added to the binding side of page when printing '
D) Margin that is added to the outside of the page when printing

' - (Punjabi Version)
(A) UF B)&® (C)H3 (D) "&
28 @nﬂu’mwém;ﬁwﬁ,wféafaﬁwﬁaarmﬁ:

(A) ¥ar ) (C) da D) a®T
3, ww&%'a’W‘m’mmmW@ywa,mww&
(A) me@Hd fafan (B) Ferawel fafenr

(C) Fmaait fafemT (D) fafanr ferme
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4. Ut g QY faatut gart-w3ar g5
(A) 75 (B) &7 ©ws  D)F
5.  Uardt e fasht samig as:
A) f3s (B) 979 (C) U (D) &
6. ‘WB=EY &t : :
T (A) 439 (B) ITHT (C) Qu-gmr (D) f&ut
7 faadt feut Iardt g § foys o8t ga<t & T
(A) €<5arE! " (B) HYOuHT (C) madt (D) grannt
8. ‘g’ &t fardt JEt a5 :
(A)RT B s ©3 (D) =
9. Ul fR9 ‘w33 wivat § faor aier 3
(A) A=T (B) ¥law Ai<d (C) fevims (D) ™3u A=d
10. HUREE-A3 IS |
@rge . B)eE (C) Ae (D) wrfee
11. I3 fafout 9 wat mimit mee g
(A) aH-Ter (B) aH-aHTet (C) aH-feug (D) aH-fafemr -
12. WUTESE IF.......... MYTE YdT ;. :
(A)dSHaB &8  (B)ds g% (C)dsyee  (D)dEt FTuse
13. ‘HIgFHST WL € MW I - : : , :
(A) T HIW FHET _ (B) 7 gz Aret
(C)Hew dt : _ (D) gaA™S g7
- Directions (Q. 14-16) Mark the correct meaning of the given word out of four options.
14.  ACRID : -
A) harsh B) generous C) stupid D) innocent
15.  ACQUIESCE ‘
.A) to fight B) to accept C) to question D) to reject
16. COLLUSION -
~ A)allusion - B) illusion C) conspiracy D) delusion
Directions (Q.17-19): Mark the correct synonym of the given word out of four options.
17. ACCLIMATIZE
A) to surrender B) to resist C) to obey ' D) to adjust
[8. CANDOUR ;

A) frankness B) evasiveness C) cajole D) coerce

19. © FASTIDIOUS : i

) A) fast B) scrupulous C) sloppy D) ridiculous
Directions (Q. 20-22) : Mark the correct antonym of the given word out of the given.
options.
20. FECUND ) : g

A) bold ' B) .foolish C) barren D) dark
2l..  GARBLED - : ; 3

: A) guilty B) sweet C) rough D) clear
22.  PUTRID : ’

A) fresh B) stale C) calm - D) angry
Directions (Q.23-25) : Mark the correct meaning of the given idioms out of the four
options, ' : :

23\ anything goes

A) consequence of your/someone’s actions
B) there are no rules about acceptable behaviour

* C) determination to fight

D) excessive praise



24. - to pull one out of the hat
A) to be cruel to someone
B) to ridicule others
C) to bring off an unexpected trick in an apparently desperate situation
i D) to be selfish
25.  to line your pocket

“A) to flatter others B) to displease others
C) to deceive others_ : D%_%akc money usually by dishonest means
- 26. for <t ggzr nidis iy IwEH3a ni= ECE iR
(A) 9 Jiftfe fiwr At | (B)Eﬂ'dhnﬁ?rHFﬁ
(C) g IHeH - (D)a_'raaaarfa?ﬁ
27. I fafinit & AEw 39
AES ' m’aa‘r
1 JII-o-U3E a. | Hdldd
2. | 9&5'HT gar b. | 396 396 _
3. [ o °H g c. | quaEs
4, | A& Far [d. | Aefde
(A) b, 2a, 3d, 4c (B) b, 2a, 3c, 4d
(C) la,2b, 3d, 4¢ (D) la,2b, 3c, 4d
28. E(EI?S' H'®H aa'

(i At foEr, ofgnrer, A, 3 &, g et Aeadt 3T 3

(i) I3 29 It ueet et 22 gt I et feq g 9
(i) Unrdt afomrsr, ﬁ}mnéfewﬂﬁveﬁﬂaaﬁ’rwﬁ

(iv) wﬁ?mﬁvmwwm b

_ (A) i, iii, M3 iv ‘B) i, ii M3 iv
(C) - A g9 M) i M3 iv
29. mwaﬁvﬁwm’f%? _
® s ®) Bar
- (©) g (D) @Het
30. aﬁmﬁwéﬁﬁmﬁ?
- (A) oA i3 A3EH (B) fanrH n3 It -
C) 958 M3 HIBH (D) I< 3 I8E -
< 3 50 km @t Quret 31, Twss fan e gfenr Jer 3 ?
(A) ?r'zﬁam‘ ITEHIA, nmmm%mf:?rﬁf ;
(B) m‘ﬁaﬂﬁm%mﬁmﬂa

(C) rrarims »3 By dnAt
. (D) mmmﬁmmmmm
32. m—??ar—fwﬁsa"t?ﬁmnﬁt‘?

(A) 1944 (B) 1964

: (C) 1945 af)ﬂ;}lm’%
33. 93 & ITHSIUSL, f‘mé%ﬂéamzarﬁ Uénaaﬁrnzré 8y m5 :

(i) 3. Ified yAe
(i) »A. ITr
(iii) ST 1%[6_;%3_5

(iv)

A '%@ B) (i) n3 C) (i) ™3 (iv) (i) "3 (iv)
4. itorare mgnga"r e e, Wogld Watc nstai 8 153 9 1

(A) oo (3837 . (B) 1F (AfTendd®),

1(® aﬁama?n?(uﬁné) (D) I (feedh)
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33

36.

A3

38.

i 39

40.

41.
42,
43,

44,

45,

46.
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(A) 379, E9S (B) #AR®HT, 393
(C) zuwm, feauimr (D) i, fEEhmr
Hies-fefamrs. fam e niftmis ager J 7 ;
(A) Heut § Bgf ¥ AEfex nint § 9e® A gEvE T

(B) Gaul H& € &

(C) wousT et fefds sHSt

(D) Ufentt & §3u=t-fefomis

Jnifed niess :_

(A) Wﬁwﬁwﬁﬁnﬁwﬁwﬁﬁt

(B) wifgAr3-zgar € ghar v nredHiags

(C) F< &% 3K I ¥ T % _

(D) TIHIITE NieHs &6 § Jfenr H

gr93 @ Afeus & 7-& nigaet R fofos 9 ¢
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(C) “Fu get, I I 3 AHRIS got
(D) IW A &9 Hiet & <5 :

I fafimit & HEs &9 _
1. | rrawt wrer a. | &® yuIit &% g% Hag {99 Tur _
2. | @He wrer b. | nmHEat YuShott &% nmHest ¥e9 fRe I
3. | Head T | ¢, | a® yruSoft HeRl GUd &% I HY (99 I
4. | yrafia uwrer d. | g% yruEr HaRt U mi3 o™ I35 58 38
(A) la,2b, 3c, 4d (B) 1b, 2c¢, 3d, 4a
(C) 1d, 2b, 3¢, 4a (D) lc,2a, 3b, 4d

WIHGd UdHad 33 femH ‘Slumdog millionaire’ &9, Weg & ghiar ford
fagrst 7 ' .

A) faftaus | ; (B) nifs® ayg
(©) nifizg 795 (D) HIgY H'
2020 §Bfuan fxoz wigg Feerear ? ,
(A) <6 “(B) HEH BNMIH
(C). fersags ¥ (D) Rfzz
‘Q’ IE€ 3 fam wfog 3 Hews ggaltsr 7
(A) HEEt -4 (B) HaBg
©C) ve (D) f&#A :
‘SIMBEX 14° 3Rfser wifgnir 3 firgar nidws mies &9 fdgt fegara dfenr
(A) 93 ni3 i B (B) 393 W3 HBITH
(C) FII NI : e (D) 393 M3 HWHI
(SIS nif3-srEt fearet v W3y J ¢ ok
(A) Islamic State of Iraq and Syria.  ~  (B) International Shia Islamic Sect
(C%= International Sgct Islamic States (D) Islamic Shia International Sect
7- Fedt I5 M € 719 _
(A) nHI FHT HET ' - (B) & g

(C) Woew fHw nroge@mr : (D) i3 Yo A .
3793 T I NG @ AE 3 Fw HIA-1EE B S« AT Hie BET niftuesH 98
wagr @ur fe3r famr J . ak .
(A) 30 Y 3 70 BY JuUT- (B) 40 &4 3 70 By quT
(C) 50 Y 3 70 By JUT . (D) 40 3y 3 fex gz qu?
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(A) HfEHBH (B) daF
(©) S (D) 3&d
48. “fim nigw 2013’ © fyzrg fam § oz fopur At 2
(A) Ht 97 Aiafend (B) H'H?nf'?ra%wf‘sﬂw
(C) RI® Tdr (D) ifsw Iafaa

49. ‘dard AEAR’ TIMGE I :
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(D) Gudas &9 agt &t &t T
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(C) AHTR Sfenrs BET ITHed! IrEtoTar HAET
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1CV, SFU, 91T, 15LS, 170R
) (A) SFU (B) 15LS -
‘ g_s)' 9IT (D) _ 17 OR
52. ﬁﬁaﬂxwmaﬁnﬁﬁméf
i a_bc_a beda_ ccd bed

(A) abddbd (B) acbdbb
(C) adbbad (D) adbcad
53.}1&3—?{2*#}@'6&3?9@?%%% fiaosr fem mEe-ge @ 3l
AITS :
(A) Haf3ara : a3 (B) AT M
C) 3auz : asfifse (D) yafarg ; ast
54, mamw%amm@ﬁwmﬁnﬁﬁ%aﬂm 5
(A) HZ HIHEG = (B) WIBTII HIHEG
(©) €33 ugst HoAWIG (D) <TuT U HITHTIEG

55. Jot 3 5 T fat few ¥ & HimH &9 ol
(i) @Iew (i) ITA T (i) "5 (iv) FOHUST (v) AT

A) (0 ((B) (i)

C) (iv) = D) )
56. HE H@H dd L@

(i) 5788 (i) S878

(i) 6482 (iv) 9748

(v) 8884 : ‘
el e B W

1 v
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(i) ACDF ~ (ii)) FGKL (i) HIVW  (iv) TUOP  (v) ABMN

(A) (@) (B) (iii)

58. %ea fg% f&9 CALANDER & CLA(\I?I)AE(D)R fofimr wer 31 @R a8 e
CIRCULAR?'S" fo2 fafour Aer & 7

(A) ICCRLURA (B) CRIUCLRA
(C) ICRCLUAR (D) CRIUCALR
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